Identities Involving Powers and Inverse of Binomial Coefficients

Wu Yun Gao Wa

Department of Mathematics, College of Sciences and Technology, Inner Mongolia University, Inner Mongolia 010021, P. R. China

Abstract In this paper, we give several identities of finite sums and some infinite series involving powers and inverse of binomial coefficients, which extends the results of T. Trif.

Keywords inverse of binomial coefficient; identities; stirling numbers.

Document code A MR(2010) Subject Classification 11B65 Chinese Library Classification O157

1. Introduction and preliminaries

Binomial coefficients play an important role in many areas of mathematics, including combinatorial analysis, graph theory, number theory, statistics and probability. Inverses of binomial coefficients are also prolific in the mathematical literature and many results on the inverses of binomial coefficient identities can be found in the papers [1–4].

In [1], Sury first used the identity

$$\beta(p,q) = \frac{\Gamma(p)\Gamma(q)}{\Gamma(p+q)}$$

to observe that

$$\binom{n}{k}^{-1} = (n+1) \int_0^1 t^k (1-t)^{n-k} dt.$$
 (1)

In this paper, we obtain several identities of summations involving powers and inverses of binomial coefficients by the integral identity (1), which extends the results of Trif [2].

Lemma 1.1 ([5]) For each $r \geq 0$, the power series with coefficients'r-th powers' equals:

$$\sum_{k\geq 0} k^r x^k = \sum_{j=0}^r j! S(r,j) \frac{x^j}{(1-x)^{j+1}} = \frac{A_r(x)}{(1-x)^{r+1}}, \quad |x| < 1,$$

where S(r, j) and $A_n(x)$ are Stirling numbers of the second kind and Eulerian polynomials respectively.

Received June 27, 2010; Accepted October 3, 2010

Supported by the National Natural Science Foundation of China (Grant No. 11061020) and the Natural Science Foundation of Inner Mongolia Autonomous Region of China (Grant No. 20080404MS010).

E-mail address: wuyungw@163.com

Lemma 1.2 ([6]) Let r be nonnegative integer. Then

$$\sum_{k=0}^{n} k^{r} x^{k} = \frac{A_{r}(x)}{(1-x)^{r+1}} - x^{n+1} \sum_{k=0}^{r} {r \choose k} \frac{A_{k}(x)}{(1-x)^{k+1}} (n+1)^{r-k},$$

where $A_k(x)$ are Eulerian polynomials.

Lemma 1.3 Let r be nonnegative integer. Then

$$\sum_{k=0}^{n} \binom{n}{k} (-x)^k k^r = \sum_{h=0}^{r} (n)_h S(r,h) (-x)^h (1-x)^{n-h},$$

where S(r,h) are Stirling numbers of the second kind and x is a real number.

Proof Let $f(z) = \sum_{k=0}^{\infty} (-xz)^k k^r = \sum_{h=0}^r (n)_h S(r,h) \frac{(-xz)^h}{(1+xz)^{h+1}}$. Then

$$\sum_{k=0}^{n} \binom{n}{k} (-x)^k k^r = [z^n] \frac{1}{1-z} f(\frac{z}{1-z})$$

$$= [z^n] \sum_{h=0}^{r} h! S(r,h) (-x)^h \sum_{i=0}^{\infty} (1-x)^i \binom{h+i}{i} z^{h+i}$$

$$= \sum_{h=0}^{r} (n)_h S(r,h) (-x)^h (1-x)^{n-h}. \quad \Box$$

By the same way, we can get the following Lemma.

Lemma 1.4 Let r be any nonnegative integer. Then

$$\sum_{k=0}^{n} \binom{n}{k} x^{k} k^{r} = \sum_{h=0}^{r} (n)_{h} S(r, h) x^{h} (1+x)^{n-h},$$

where S(r, h) are Stirling numbers of the second kind.

2. Finite sums involving inverses of binomial coefficients

In this section, we present some finite sums involving the inverses of binomial coefficients and powers.

Theorem 2.1 Let $r, m \ge 0, j \ge 1$ be any integers. Then

$$\sum_{k=j}^{n} \binom{n+m}{m+k}^{-1} (-1)^k k^r = \frac{m+n+1}{n+2-j} \sum_{k=0}^{r} \binom{r}{k} j^{r-k} \sum_{i=0}^{k} i! (-1)^{i+j} S(k,i) \binom{n+m+i+2}{m+i+j}^{-1} + (-1)^n \sum_{k=0}^{r} \binom{r}{k} (n+1)^{r-k} \sum_{i=0}^{k} i! (-1)^i S(k,i) \frac{n+m+1}{n+2+m+i}$$

where S(r,h) are Stirling numbers of the second kind.

Proof By the integral identity (1), we have

$$\sum_{k=j}^{n} \binom{n+m}{m+k}^{-1} (-1)^k k^r = (n+m+1) \int_0^1 (1-t)^n t^m \sum_{k=j}^n (\frac{-t}{1-t})^k k^r dt$$

$$= (n+m+1) \sum_{k=0}^r \binom{r}{k} j^{r-k} \sum_{i=0}^k i! S(k,i) \int_0^1 (1-t)^{n+1-j} t^{m+j+i} (-1)^{i+j} dt - (n+m+1) \sum_{k=0}^r \binom{r}{k} (n+1)^{r-k} \sum_{i=0}^k i! S(k,i) \int_0^1 t^{m+n+i+1} (-1)^{n+1+i} dt$$

$$= \frac{m+n+1}{n+2-j} \sum_{k=0}^r \binom{r}{k} j^{r-k} \sum_{i=0}^k i! (-1)^{i+j} S(k,i) \binom{n+m+i+2}{m+i+j}^{-1} + (-1)^n \sum_{k=0}^r \binom{r}{k} (n+1)^{r-k} \sum_{i=0}^k i! (-1)^i S(k,i) \frac{n+m+1}{n+2+m+i},$$

which completes the proof. \Box

In a similar way, we can get the following Corollary.

Corollary 2.1 Let r, m be any nonnegative integers. Then

$$\sum_{k=0}^{n} \binom{n+m}{m+k}^{-1} (-1)^k k^r = \frac{m+n+1}{n+2} \sum_{h=0}^{r} h! (-1)^h S(r,h) \binom{n+m+h+2}{m+h}^{-1} + (-1)^n \sum_{k=0}^{r} \binom{r}{k} (n+1)^{r-k} \sum_{i=0}^{k} i! S(k,i) \frac{(-1)^i (m+n+1)}{n+2+m+i},$$

where S(r,h) are Stirling numbers of the second kind.

Remark 2.1 It is the conclusion of [2] when r = 0.

By setting r = 0, r = 1 in Theorem 2.1, we get the following Corollary.

Corollary 2.2 Let j be any nonnegative integer. Then

$$\begin{split} \sum_{k=j}^{n} \binom{n+m}{m+k}^{-1} (-1)^k &= \frac{m+n+1}{n+m+2} ((-1)^n + (-1)^j \binom{n+m+1}{m+j}^{-1}) \,, \\ \sum_{k=j}^{n} \binom{n+m}{m+k}^{-1} (-1)^k k &= \frac{m+n+1}{n+m+2} (\binom{n+m+1}{m+j}^{-1} (j - \frac{m+1+j}{n+m+3}) (-1)^j + \\ &\qquad \qquad \frac{(-1)^n (n^2 + n(m+3) + 1)}{(m+n+3)}), \end{split}$$

where S(r,h) are Stirling numbers of the second kind.

Setting m = n in Theorem 2.1 gives another Corollary.

Corollary 2.3 Let r be any nonnegative integer. Then

$$\sum_{k=j}^{n} {2n \choose n+k}^{-1} (-1)^k k^r = \frac{2n+1}{n+2-j} \sum_{k=0}^{r} {r \choose k} j^{r-k} \sum_{i=0}^{k} i! (-1)^{i+j} S(k,i) {2n+i+2 \choose n+i+j}^{-1} + (-1)^n \sum_{k=0}^{r} {r \choose k} (n+1)^{r-k} \sum_{i=0}^{k} i! (-1)^i S(k,i) \frac{(2n+1)}{2n+2+i},$$

where $j \geq 1$ is integer, S(r,h) are Stirling numbers of the second kind.

By setting m = n in Corollary 2.1, we get the following conclusion.

Corollary 2.4 Let r be any nonnegative integer. Then

$$\sum_{k=0}^{n} {2n \choose n+k}^{-1} (-1)^k k^r = \frac{2n+1}{n+2} \sum_{h=0}^{r} h! (-1)^h S(r,h) {2n+h+2 \choose n+h}^{-1} + (-1)^n \sum_{k=0}^{r} {r \choose k} (n+1)^{r-k} \sum_{i=0}^{k} i! (-1)^i S(k,i) \frac{(2n+1)}{2n+2+i},$$

where S(r, h) are Stirling numbers of the second kind.

Corollary 2.5 Let j be any nonnegative integer. Then

$$\sum_{k=j}^{n} {2n \choose n+k}^{-1} (-1)^k = \frac{2n+1}{2n+2} ((-1)^n + (-1)^j {2n+1 \choose n+j}^{-1}),$$

$$\sum_{k=j}^{n} {2n \choose n+k}^{-1} (-1)^k k = \frac{2n+1}{2n+2} {2n+1 \choose n+j}^{-1} (j - \frac{n+1+j}{2n+3}) (-1)^j + \frac{(-1)^n (2n+1)^2}{2(2n+3)}.$$

Theorem 2.2 Let r be any nonnegative integer. Then

$$\sum_{k=0}^{2n} {2n \choose k} {4n \choose 2k}^{-1} (-1)^k k^r$$

$$= (4n+1) \sum_{k=0}^r (2n)_h (-1)^h S(r,h) \sum_{i=0}^{2n-h} {2n-h \choose i} \frac{(-2)^i}{2h+i+1},$$

where S(r,h) are Stirling numbers of the second kind and $(n)_h = n(n-1)\cdots(n-h+1)$.

Proof By the integral identity (1) and Lemma 1.1, we have

$$\begin{split} \sum_{k=0}^{2n} \binom{2n}{k} \binom{4n}{2k}^{-1} (-1)^k k^r &= (4n+1) \int_0^1 (1-t)^{4n} \sum_{k=0}^{2n} \binom{2n}{k} (\frac{-t^2}{(1-t)^2})^k k^r \mathrm{d}t \\ &= (4n+1) \sum_{h=0}^r (2n)_h S(r,h) (-1)^h \int_0^1 (1-2t)^{2n-h} t^{2h} \mathrm{d}t \\ &= (4n+1) \sum_{h=0}^r (2n)_h (-1)^h S(r,h) \sum_{i=0}^{2n-h} \binom{2n-h}{i} \frac{(-2)^i}{2h+i+1}, \end{split}$$

which completes the proof. \Box

Remark 2.2 It is the conclusion of [2] when r = 0.

Theorem 2.3 If r, m, n and p are nonnegative integers with $p \le n$, then

$$\sum_{k=0}^{m} {m \choose k} {n+m \choose p+k}^{-1} k^r = \sum_{h=0}^{r} (m)_h S(r,h) {n+h \choose p+h}^{-1} \frac{m+n+1}{n+h+1},$$

where S(r, h) are Stirling numbers of the second kind.

Proof By the integral identity(1) and Lemma 1.2, we have

$$\sum_{k=0}^{m} {m \choose k} {n+m \choose p+k}^{-1} k^r = (n+m+1) \int_0^1 t^p (1-t)^{n+m-p} \sum_{k=0}^{m} {m \choose k} (\frac{t}{1-t})^k k^r dt$$
$$= (n+m+1) \sum_{k=0}^{r} (m)_k S(r,k) \int_0^1 (1-t)^{n-p} t^{p+k} dt$$
$$= \sum_{k=0}^{r} (m)_k S(r,k) {n+k \choose p+k}^{-1} \frac{m+n+1}{n+k+1},$$

which completes the proof. \Box

Remark 2.3 It is the conclusion of [2] when r = 0.

Theorem 2.4 If r, m, n and p are nonnegative integers with $p \le n$, then

$$\sum_{k=0}^{m} {m \choose k} {n+m \choose p+k}^{-1} (-1)^k k^r$$

$$= \sum_{h=0}^{r} (m)_h S(r,h) (-1)^h \sum_{i=0}^{m-h} {m-h \choose i} {n+h+i \choose h+p+i}^{-1} \frac{(-2)^i (m+n+1)}{h+n+i+1},$$

where S(r, h) are Stirling numbers of the second kind.

Theorem 2.4 can be proved in the same way and the proof is omitted here.

3. Infinite sums involving inverses of binomial coefficients

In this section, we present some infinite sums involving the inverses of binomial coefficients and powers.

Theorem 3.1 Let $r \ge 0, j \ge 1$ be any integers. Then

$$\sum_{k=j}^{\infty} {mk \choose nk}^{-1} (-1)^k k^r = (-1)^j \sum_{k=0}^{r+1} {r+1 \choose k} j^{r+1-k} \left(m + \frac{r+1-k}{j(r+1)}\right) \times \sum_{i=0}^k i! S(k,i) (-1)^i \int_0^1 \frac{(t^n (1-t)^{m-n})^{i+j} dt}{(1+t^n (1-t)^{m-n})^{i+1}},$$

where S(r,h) are Stirling numbers of the second kind.

Proof By the integral identity (1), we get

$$\begin{split} &\sum_{k=j}^{\infty} \binom{mk}{nk}^{-1} (-1)^k k^r = \sum_{k=j}^{\infty} (mk+1) \int_0^1 (1-t)^{(m-n)k} t^{nk} (-1)^k k^r \mathrm{d}t \\ &= m \int_0^1 \sum_{k=j}^{\infty} (-t^n (1-t)^{m-n})^k k^{r+1} \mathrm{d}t - \int_0^1 \sum_{k=j}^{\infty} (-t^n (1-t)^{m-n})^k k^r \mathrm{d}t \\ &= (-1)^j \sum_{k=0}^{r+1} \binom{r+1}{k} j^{r+1-k} (m + \frac{r+1-k}{j(r+1)}) \sum_{i=0}^k i! S(k,i) (-1)^i \int_0^1 \frac{(t^n (1-t)^{m-n})^{i+j} \mathrm{d}t}{(1+t^n (1-t)^{m-n})^{i+1}}, \end{split}$$

which completes the proof. \Box

By the same way, we can get the following Corollary.

Corollary 3.1 Let r be any nonnegative integer. Then

$$\sum_{k=0}^{\infty} {mk \choose nk}^{-1} (-1)^k k^r$$

$$= \sum_{h=0}^{r+1} h! (mS(r+1,h) + S(r,h)) \sum_{i=0}^{h} {h \choose i} (-1)^{h-i} \int_0^1 \frac{\mathrm{d}t}{(1+t^n(1-t)^{m-n})^{i+1}},$$

where S(r, h) are Stirling numbers of the second kind.

By setting m = 2, n = 1 in Corollary 3.1, we obtain the following results.

Corollary 3.2 Let r be any nonnegative integer. Then

$$\begin{split} &\sum_{k=0}^{\infty} \binom{2k}{k}^{-1} (-1)^k k^r \\ &= \frac{4\sqrt{5}}{5} \ln \frac{1+\sqrt{5}}{2} ((-1)^{r+1} + \sum_{h=1}^{r+1} h! (2S(r+1,h) + S(r,h)) \sum_{i=1}^h \binom{h}{i} \binom{2i}{i} \frac{(-1)^{h-i}}{5^i}) + \\ &\sum_{h=2}^{r+1} h! (2S(r+1,h) + S(r,h)) \sum_{i=2}^h \binom{h}{i} \sum_{s=1}^{i-1} \frac{(-1)^{h-i} (2i)_{2s+1}}{5^{s+1} [(i)_{s+1}]^2} + \frac{2(r+2)(-1)^r}{5}, \end{split}$$

where S(r,h) are Stirling numbers of the second kind, $(i)_s = i(i-1)\cdots(i-s+1)$.

Proof By the integral identity (1) and Corollary 3.1, we get

$$\sum_{k=0}^{\infty} {2k \choose k}^{-1} (-1)^k k^r = 2 \sum_{h=0}^{r+1} h! S(r+1,h) \sum_{i=0}^h {h \choose i} (-1)^{h-i} \int_0^1 \frac{\mathrm{d}t}{(1+t(1-t))^{i+1}} + \sum_{h=0}^r h! S(r,h) \sum_{i=0}^h {h \choose i} (-1)^{h-i} \int_0^1 \frac{\mathrm{d}t}{(1+t(1-t))^{i+1}}$$

$$= (-1)^{r+1} \int_0^1 \frac{\mathrm{d}t}{1+t(1-t)} + \sum_{h=1}^{r+1} (2S(r+1,h) + S(r,h)) h! \sum_{i=1}^h {h \choose i} (-1)^{h-i} \times$$

$$(\frac{2}{5i} + \sum_{s=1}^{i-1} (\frac{2}{5})^{s+1} \frac{(2i-1)(2i-3)\cdots(2(i-s)+1)}{(i)_{s+1}} + (\frac{2}{5})^i \frac{(2i-1)!!}{i!} \frac{4\sqrt{5}}{5} \ln \frac{1+\sqrt{5}}{2})$$

$$= \frac{4\sqrt{5}}{5} \ln \frac{1+\sqrt{5}}{2} ((-1)^{r+1} + \sum_{h=1}^{r+1} h!(2S(r+1,h) + S(r,h)) \sum_{i=1}^{h} \binom{h}{i} \binom{2i-1}{i} \frac{(-1)^{h-i}}{5^i}) + \sum_{h=2}^{r+1} h!(2S(r+1,h) + S(r,h)) \sum_{i=2}^{h} \binom{h}{i} \sum_{s=1}^{i-1} \frac{(-1)^{h-i}(2i)_{2s+1}}{5^{s+1}[(i)_{s+1}]^2} + \frac{2}{5} (r+2)(-1)^r,$$

which completes the proof. \Box

Corollary 3.3 Let $i \geq 1$ be any integer. Then

$$\sum_{s=0}^{\infty} {s+i \choose i} {2s+1 \choose s}^{-1} \frac{(-1)^s}{s+1} = \int_0^1 \frac{dt}{(1+t(1-t))^{i+1}}$$
$$= \frac{2}{5i} + \sum_{s=1}^{i-1} \frac{(2i)_{2s+1}}{5^{s+1}[(i)_{s+1}]^2} + {2i \choose i} \frac{4\sqrt{5}}{5^{i+1}} \ln \frac{1+\sqrt{5}}{2},$$

where $(i)_s = i(i-1)\cdots(i-s+1)$.

By Corollary 3.3, we obtain the following Corollary 3.4.

Corollary 3.4 Let i be any nonnegative integer. Then

$$\sum_{s=0}^{\infty} {s+i \choose i} {2(s+i)+1 \choose s+i}^{-1} \frac{(-1)^{s+i}}{s+i+1} = \sum_{s=2}^{i} {i \choose s} \sum_{j=1}^{s-1} \frac{(-1)^{i-s} (2s)_{2j+1}}{5^{j+1} [(s)_{j+1}]^2} + \frac{2(-1)^{i+1} H_i}{5} + \frac{4\sqrt{5}}{5} \ln \frac{1+\sqrt{5}}{2} ((-1)^i + \sum_{s=1}^{i} {i \choose s} {2s \choose s} \frac{(-1)^{i-s}}{5^s}).$$

Remark 3.1 By setting r = 0, 1, 2 in Corollary 3.2, we have

$$\sum_{k=0}^{\infty} {2k \choose k}^{-1} (-1)^k = \frac{4}{5} - \frac{4\sqrt{5}}{5^2} \ln \frac{1+\sqrt{5}}{2},$$

$$\sum_{k=0}^{\infty} {2k \choose k}^{-1} (-1)^k k = -\frac{6}{5^2} - \frac{4\sqrt{5}}{5^3} \ln \frac{1+\sqrt{5}}{2},$$

$$\sum_{k=0}^{\infty} {2k \choose k}^{-1} (-1)^k k^2 = -\frac{4}{5^2} + \frac{4\sqrt{5}}{5^3} \ln \frac{1+\sqrt{5}}{2}.$$

Theorem 3.2 Let $r \ge 0, j \ge 1$ be any integers. Then

$$\sum_{k=j}^{\infty} {mk \choose nk}^{-1} k^{r}$$

$$= \sum_{k=0}^{r+1} {r+1 \choose k} j^{r+1-k} \left(m + \frac{r+1-k}{j(r+1)}\right) \sum_{i=0}^{k} i! S(k,i) \int_{0}^{1} \frac{(t^{n}(1-t)^{m-n})^{i+j} dt}{(1+t^{n}(1-t)^{m-n})^{i+1}},$$

where S(r,h) are Stirling numbers of the second kind.

The proof of Theorem 3.2 is the same as that of Theorem 3.1.

Corollary 3.5 Let r be any nonnegative integer. Then

$$\sum_{k=0}^{\infty} {mk \choose nk}^{-1} k^r$$

$$= \sum_{h=0}^{r+1} h! (mS(r+1,h) + S(r,h)) \sum_{i=0}^{h} \binom{h}{i} (-1)^{h-i} \int_{0}^{1} \frac{\mathrm{d}t}{(1-t^{n}(1-t)^{m-n})^{i+1}},$$

where S(r, h) are Stirling numbers of the second kind.

Remark 3.2 It is the conclusion of [2] when r = 0.

By setting m = 2, n = 1 in Corollary 3.5, we get the following conclusion.

Corollary 3.6 Let r be any nonnegative integer. Then

$$\begin{split} &\sum_{k=0}^{\infty} \binom{2k}{k}^{-1} k^r \\ &= \frac{2\pi\sqrt{3}}{9} ((-1)^{r+1} + \sum_{h=1}^{r+1} h! (2S(r+1,h) + S(r,h)) \sum_{i=1}^{h} \binom{h}{i} \binom{2i}{i} \frac{(-1)^{h-i}}{3^i}) + \\ &\sum_{h=2}^{r+1} h! (2S(r+1,h) + S(r,h)) \sum_{i=2}^{h} \binom{h}{i} \sum_{s=1}^{i-1} \frac{(-1)^{h-i} (2i)_{2s+1}}{3^{s+1} [(i)_{s+1}]^2} + \frac{2(r+2)(-1)^r}{3}, \end{split}$$

where S(r,h) are Stirling numbers of the second kind and $(i)_s = i(i-1)\cdots(i-s+1)$.

The proof of Corollary 3.6 is the same as that of Corollary 3.2.

Corollary 3.7 Let $i \geq 1$ be any integer. Then

$$\sum_{s=0}^{\infty} {s+i \choose s} {2s+1 \choose s}^{-1} \frac{1}{s+1} = \int_0^1 \frac{\mathrm{d}t}{(1-t(1-t))^{i+1}}$$
$$= \frac{2}{3i} + \frac{2\pi\sqrt{3}}{3^{i+2}} {2i \choose i} + \sum_{s=1}^{i-1} \frac{(2i)_{2s+1}}{3^{s+1}[(i)_{s+1}]^2},$$

where $(i)_s = i(i-1)\cdots(i-s+1)$.

By Corollary 3.7, we can get the following Corollary 3.8.

Corollary 3.8 Let i be any nonnegative integer. Then

$$\begin{split} &\sum_{s=0}^{\infty} \binom{s+i}{s} \binom{2(s+i)+1}{s+i}^{-1} \frac{1}{s+i+1} \\ &= \frac{2\pi\sqrt{3}}{9} ((-1)^i + \sum_{s=1}^i \binom{i}{s} \binom{2s}{s} \frac{(-1)^{i-s}}{3^s}) + \sum_{s=2}^i \binom{i}{s} \sum_{j=1}^{s-1} \frac{(-1)^{i-s}(2s)_{2j+1}}{3^{j+1}[(s)_{j+1}]^2} + \frac{2(-1)^{i+1}H_i}{3}, \end{split}$$

where $(i)_s = i(i-1)\cdots(i-s+1)$.

Remark 3.3 By setting r = 0, 1, 2 in Corollary 3.6, we can establish the following identities.

$$\sum_{k=0}^{\infty} {2k \choose k}^{-1} = \frac{4}{3} + \frac{2\pi\sqrt{3}}{3^3},$$

$$\sum_{k=0}^{\infty} {2k \choose k}^{-1} k = \frac{2}{3} + \frac{2\pi\sqrt{3}}{3^3},$$

$$\sum_{k=0}^{\infty} \binom{2k}{k}^{-1} k^2 = \frac{4}{3} + \frac{10\pi\sqrt{3}}{3^4}.$$

References

- [1] SURY B. Sum of the reciprocals of the binomial coefficients [J]. European J. Combin., 1993, 14(4): 351–353.
- [2] TRIF T. Combinatorial sums and series involving inverses of binomial coefficients [J]. Fibonacci Quart., 2000, 38(1): 79–84.
- [3] MANSOUR T. Combinatorial identities and inverse binomial coefficients [J]. Adv. in Appl. Math., 2002, 28(2): 196–202.
- [4] LEHMER D H. Interesting series involving the central binomial coefficient [J]. Amer. Math.Monthly., 1985, 92(7): 449–457.
- [5] COMTET L. Advanced Combinatorics [M]. D. Reidel Publishing Co., Dordrecht, 1974.
- [6] HSU L C, TAN E L. A refinement of de Bruyn's formulas for $\sum a^k k^p$ [J]. Fibonacci Quart., 2000, 38(1): 56–60.